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Note : First 15 minutes are allotted for the candidates to read the question paper.
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Instructions :

(i)  All questions are compulsory.

(if)  Question Numbers 1 to 10 are Multiple Choice Type, for which only correct answer
should be written in the answer-book. Question Numbers 11 to 18 are Ve
Short-Aniswer Type, which are to be answered in about 50 words each, Quest; i
Numbers 19 to 24 are Short-Answer Type, which are to be answerec; in ab:tiour;

150 words each and Question Numbers 25 tg 2
| 1 are Long-Answer T i
be answered in about 300 words each. Ype, which are to

(iif) Allgtted Marks of all the questions are given againgt each of them
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(A) Y=C+I+G
B) Y=C+I+G+X
(C) Y=C+I+G+(X-M)

D) Y=C+I+G+NX
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(A) 02
(B) 0.8
(C) 2.0
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(Multiple Choice Type Questions)

Write the only correct answer of the following questions in your answer-books :

1. Which one of the following is true ? When the marginal utility becomes negative : 1
(A) the total utility becomes negative.

(B) the total utility decreases.
(C) the total utility becomes zero.

(D) the total utility will increase but at slower rate.

2. Which one of the following is true ? The total variable cost is equal to: * 1
(A) The average variable cost X quantity
(B) The av'erage variable cost / quantity
(C) The marginal variable cost X quantity
(D) The marginal varjable cost / quantity
329(JF)
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' isi ion are taken by : 1
3.  Inamixed economy decisions related o Production and consumption

(A) The Central govenment only
(B) The State governments only . i

(C) The Central and State governments, both

(D) The Public Sector and Private Sector

4.  The statement ‘Other things being constant, an increase in money supply will increase

the price level.’, is related to
(A) Normative economics

(B) Positive economics
(C) Micro economics

(D) All of the above

5. Which one of the following is true ? [n perfectly competitive market, the : 1
(A)  Average Revenue (AR) = Margina] Revenue (MR)
(B) Average Revenue (AR) > Margina] Revenue (MR)

(C) Average Revenue (AR) < Marginaj Revenue (MR)

(D)  Average Revenue (AR) = Totg] Revenye (TR)
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6. Which one of the following is true 7 Net infestmem is equal to 1
(A) Gross Investment — Cost
(B) Gross Investment - Depreciation .. |
(C) Gross Investment — Marginal Investment

(D) . Gross investment — Net Profit

7. Which one of the following is false ? At the time of Independence (1947), one Indian

rupee was equal to : 1
(A) 4 Four Annas

(B) 2 Eight Annas

(C) 64 Paise

(D) 100 Paise

8.  Which one of the following expresses ‘National Income Identity’ for a closed economy 7 1
" (A) Y=C+I+G
B) Y=C+I+G+X
C) Y=C+I+G+(X~-M)

D) Y=C+1+G+NX
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| account in balance of

9. Which one of the following is not a compone ” of capita |
payments ?
(A) Foreign debt
(B) Foreign investment

(C) Foreign remittances

(D) Foreign aid

10. If the National Income (Y) of a country increases by ¥ 100 crores and the National

Consumption (C) increases by T 80 crores, then the Marginal Propensity to Save will be

equal to : 1
(A) 0.2
(B) 0.8
) 20
@) 8.0
(fer -t wee)
(Very Short-Answer Type Questions)
1. ISR e 56, I T A i el a2 | smen £ | 3
1. “Higher indifference curve represents higher level of satisfaction.” Explain. 3
2. AW T G e et g # O $if | 3
I2. Differentiate between Normal goods and Inferior goods. . 3
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tion and the rewards given to them ?

(3, What are different means of produc

14 mmmwaﬂhﬁma‘(ﬁwﬁmﬁ%‘iﬁﬁﬁwﬁﬁmél

14. Describe three factors that affect the supply curve of a firm.

5. TR R A G, sthh Ry drmaER ?

15. What is the relation between G.D.P. at market price and G.V.A. ?

16, ‘wuret Wi’ farg fopd FEd @ 7 3

16. What is called point of ‘effective demand’ ?

7. W e % Tora o’ 3R Goft =’ A e i | 3

I7. Differentiate between ‘Revenue Expenditure’ and ‘Capital Expenditure’ of government

budget, . d
l ‘\
8. Taceh fafiora ) off ) onfera et At P T ' 3
15 W .

hat are the different factors that affect the supply of foreign exchange ? 3
ge
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(Short-Answer Type Questions)

19, mmﬁ,mﬂﬁmmﬁuﬁﬁmﬁﬁﬁqﬁamﬂﬁm :
19. Explain the law of diminishing marginal rate of substitution in indifference curves, with
the help of diagram. 6
20. 9 S (AR), drd 3T (MR) A1 Fet 3T (TR) 6 A6 HINT | 6

20. Explain the Average Revenue (AR), Marginal Revenue (MR) and Total Revenue (TR). 6

N1 Fg-fafiey qumet S SR gUEdl #1 90 Hifr | 6
~1.  Descnbe four demerits of barter system. £
22, o TalAa a1 d 3 sreferae § gudh a e R 7 6
-2. Whatis autonomous investment and what is its role in the economy ? 6

https://www.upboardonline.com

23. WG ¥ 5% & 991 (A 0@.E. ) w wfrg Fogoht fafew | :
23. Write short note on *Goods and Services Tax’ in India. 6
T T T % S @ 5 o srerga o7 ok ifdve | 5

-=. Descnbe the differe
Nt components of Current account in balance of payments. 6
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(Long-Answer TYPe Questions)
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15, Explain the ‘Law of Equi-Marginal Utility’ in the analysis of consumer’s equilibrium. 10
OR
. What do you understand by Demand ? Describe the determinants of Demand. 10
Ih.wﬁ%m'%ﬁﬂﬁﬁqﬁammﬁﬁq| 10
HYd]
i 3, e 3 Y R araumonai & avi St | 10
10

%. Explain the ‘Laws of Return to Scale’ with diagram.

OR

Describe different concepts of National Income, in India. 10

27 *@Wmfﬁwﬁﬁmﬁﬁmlmw%mﬁ@ﬁuﬁmﬁw

Hifor | 10
HYdl

LU e e e R 1, BT 1 S @ s Y fedreen B | 10
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27. Describe the characteristics of "Perfectly competitive Market’. Explain the determination of

price in such market. 10

OR \ A
Discuss the effect of upward shifting of pemand and Supply curve on equilibrium price

and quantity. 10
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